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y=x3+4x2+3x 
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y=2x3+8x2+6x 
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y=x3+4x2+3x 

y=2x3+8x2+6x 



 
 

 

 
y=-x3-4x2-3x 
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y=x4+13x2-12x 
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y=-x3-4x2-3x 

y=x4+13x2-12x 



 
 

 

 
1247 23 −++= xxxy  

 

 

 
�
	(.)/0���12" 3�12� 3�1�� �
�

�/456(7(��%�& 4143 2 ++ xx 	
�
8915:;0����!<�#�����<# �
�8.=5:;0����<�������<" �
 

����%	&��'�	
�'�����()*����#+�, 

 

 

1247 23 +−−−= xxxy  
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6083912 234 −+++= xxxxy  
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y= x3-x2-6x 
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y= 8 x3+22x2-48x             
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y= -8x3-22x2+48x             (opuesta de la anterior) 
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Raíces: 
 

Derivada: 

 

Máximos: 

           (-0.53, 1.1) 

Mínimos: 

           (2.53, -13.1) 
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Raíces:  

 
Derivada: 

 

Máximos: 

           (2.53, 13.1) 

Mínimos: 

           (0.53, -1.1) 
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Raíces:  

 

Derivada: 

 

Máximos: 

           (0.55, 1.3) 

Mínimos: 

            (-0.6, -1.8), 

            (3.05, -24.1) 
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